

Πρόσθεση – Πολλαπλασιασμός Μονώνυμων

$$x + x + x + x =$$

$$x \cdot x \cdot x \cdot x =$$

$$3x + 2x + x =$$

$$3x \cdot 2x \cdot x =$$

$$2x + 5x - 7x - 3x =$$

$$2xy - 3xy + 2xy =$$

$$3xy - 15xy - 2xy + 7xy - 5 =$$

$$3xy - 2xy + 4 - 4xy + 7 =$$

$$12xy^2 - 3x^2y + 12xy^2 + 5x^2y =$$

$$3x^3y^2 + 4x^3y^3 - 2x^3y^3 - 7x^3y^3 + x^3y^3 =$$

$$2x + 3y + 7x - 9x + 3y + 2y =$$

$$3xy + 2x^2y - 3xy^2 + 7x^2y - 8xy^2 + 5xy - 3 =$$

$$8x^2 + 9x - 5 + 7x^2 - 2x - 8 =$$

$$7xyw - 3xyw + 2x^2yw - 5xwy + 2wxy + 2 =$$

$$[3x - (2x - 3y)] - [4y + (7x - 9y)] =$$

$$[3xy - (2x - 3y + xy)] - [7x - (3x - 2xy)] =$$

$$3x^2 - [3x - (2x^2 - 4x) - 2x^2] =$$

$$3x \cdot 2x^2 =$$

$$2x^3y^2 \cdot (-3x^4y^3) =$$

$$-2x \cdot (-5x) \cdot (-2x) =$$

$$3x^2 \cdot 2 \cdot (-3xy^3) =$$

$$-3x \cdot 2x^2 \cdot 5x^3 =$$

$$-4xyw \cdot 2x^2y^3w^5 =$$

$$-2x \cdot 3xy \cdot (-5y^2) =$$

$$-5x^2y \cdot \left(-\frac{1}{2}xy^2\right) =$$

$$\frac{2}{3}x^4y^3 \cdot \left(-\frac{9}{2}x^5y^4\right) =$$

$$-\frac{1}{2}x^2y^3 \cdot \left(-\frac{2}{3}x^2y^3\right) =$$

$$2x^2y^3 \cdot 3x^2y^3 \cdot x^2y^3 =$$

$$-\frac{5}{8}x \cdot \left(-\frac{3}{4}x^2\right) \cdot \left(-\frac{16}{15}xy^3\right) =$$

$$-2xy \cdot (-5xy) \cdot (+3xy) \cdot (+2xy) =$$

$$(-2xy^2) \cdot (-2xy)^2 \cdot (-3xy^2)^3 =$$

$$(-xy)^3 \cdot (-4x^2y^3)^2 \cdot (+2x^2y)^3 =$$